November 13, 2018

3.4 FBDs in 2-D with Component Vectors

ex. A 70 kg person sits on a 20 kg sled. Two people pull the sled with the
following forces. Determine the acceleration of the sled assuming a frictionless
sliding surface. =
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November 13, 2018

ex. Two tugboats are towing a tanker of mass 3.30 x 107 kg. If one is pulling at
2.40 x 10* N [E 16° N] and the other is pulling at 2.40 x 10* N [E 9° S],

a) calculate the acceleration of the tanker assuming no resistance
b) If the tanker has a resistive force of 5.60 x 10° N, find the acceleration
c) find the speed reached in part b) after 2 minutes in km/h

d) Calculate the distance required to reach a speed of 5k/h
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